Assignment
Factor each completely.

1) 5v —2v? +25v—10
3) 2b° +b? +8b +4

5) 3a’ + 15a% +2a+ 10
7) 15%% +9x% +25x + 15
9) 6m® —10m* +3m -5
11) 9r® + 12r* + 12r + 16
13) 15b® +20b% + 6b + 8
15) 20n° — 15n% +12n -9
17) 6x* —9x* + 10x — 15
19) 8k* — 10k* +4k — 5
21) 3% + 15 + 4x + 20

23) 5p° —15p*+p-3
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ID: 1

Date Period

2) 15%° —25%% + 12x - 20
4) 8k* —6k* + 4k -3

6) 20p° +5p* +8p+2
8) 15n° —5n? + 12n—4
10) 5% + x> +5x+ 1
12) 2x° +3%* + 4x+ 6
14) 15v* —9v? +5v -3
16) 6n° —8n? + 15n —20
18) 5a’ —4a’ + 25a - 20
20) 4x> +20%? + 5x + 25
22) n* +2n*+n+2

24) 2k — 4k + 5k — 10
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1) (v®+5)(5v-2)

5) (3a% +2)(a+5)
9) 2m?+1)(3m-5)
13) (5b% +2)(3b +4)
17) (3x2 +5)(2x - 3)
21) (3x%+4)(x +5)

Answers to Assignment (ID: 1)

2) (5x% +4)(3x-5)
6) (5p>+2)(4p+1)
10) (x> +1

27 osgsgs ath-vsrisheel.crg

3) (b>+4)(2b+1)

7) (3x% +5)(5x +3)
11) (3r2 +4)(3r + 4)
15) (5n% +3)(4n —3)
19) (2k* +1)(4k - 5)
23) (sp*+1)(p-3)

4y (2k* +1)(4k - 3)
8) (5n* +4)(3n-1)
12) (x? + 2)(2x +3)
16) (2n? +5)(3n - 4)
20) (4x* + 5)(x +5)
24) (2k* +5)(k-2)
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Assignment
Factor each completely.

1) 5m? +3m? + 10m + 6
3) rP+5r2+2r+10

5) 3x® +x* +9x + 3

7) 8x® —2x* +12x-3
9) 10x> —5x* +6x -3
11) 9x° — 12x* + 15x — 20
13) 4a’ + 5a + 16a + 20
15) 3r* —12r* +5r-20
17) 6% +15x* +2x+5
19) 3n’ +4n* + 12n+ 16
21) v} —4v? +5v-20

23) 15a° —6a’ + 10a—4

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date Period

2) 15%° + 12x% + 25% + 20
4) 25n° +5n% +10n +2
6) 20n° +4n% +5n + 1

8) 9V + 12v? + 6V + 8
10) 15b* —25b% + 12b - 20
12) 12k* + 8k* + 9k + 6
14) 15p* -3p? +25p-5
16) 10m* +5m? +2m + 1
18) 5b* —5b%* +b -1

20) 4x° —2x* +2x -1
22) 6n° +4n% + 150+ 10

24) 10n° +2n? +5n+ 1
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Answers to Assignment (ID: 2)

1) (m? +2)(5m +3) 2) (3x%+5)(5x +4) 3) (r?+2)(r+5)

5) (x> +3)(3x+1) 6) (4n>+1)(5n+1) 7) (2x +3)(4x—1)
9) (5x2+3)(2x-1) 10) (5b> +4)(3b - 5) 11) (3x +5)(3x—4)
13) (a’ +4)(4a +5) 14) 3p*+5)(sp—1)  15) (3r*+5)(r—4)
17) (3x2 +1)(2x +5) 18) (5b% +1)(b - ) 19) (n%+ 4)(3n +4)
21) (vZ+5)(v—4) 22) (2n%+5)(3n+2) 23) (3a%+2)(5a-2)
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4y (5n* +2)(5
8) (3v? +2)(3
12) (4k2+3)
16) (5m?>+1)2m+1)

2x +1)(2x—1)
+1)(

1)
4)
k+2)

n+
3v+
3

(
1)

5n+1)
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ID: 3

Name
Assignment Date Period____
Factor each completely.
1) 20x —5x% + 12x -3 2) k* +5k* +3k+ 15
3) 5%° + 15X +2Xx + 6 4) 5m° +5m? + 4m + 4
5) 10n° +25n% +4n + 10 6) 10p> +2p*+15p+3
7) 16n° —20n* + 12n— 15 8) 16m® +12m? +20m + 15
9) 3x* —2x* +12x -8 10) 12r® +9r? + 16r + 12
11) x> = x> +5x -5 12) 6n° +10n* +3n+5
13) 3b* + 12b* + 4b + 16 14) 6V + 15v* +2v+5
15) k* —3k*> +2k—-6 16) 4x> +2x* + 10X+ 5
17) 3a* —5a’ +3a-5 18) 8x* —20x* +2x -5
19) 6x° +3%> +4x+2 20) 6n° —3n? +4n-2
21) 8m* + 10m? + 12m + 15 22) 5p° +25p* + p+5
23) 5r° +15r* +4r+ 12 24) x>+ x* +3x+3
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Answers to Assignment (I1D: 3)

1) (5x%+3)(4x—1) 2) (k2 +3)(k+5) 3) (5x%+2)(x+3) 4) (5m? +4)(m+1)
5) (5n% +2)(2n + 5) 6) (2p>+3)(5p+1) 7) (4n> +3)(4n-5) 8) (4m? +5)(4m +3)
9) (x*>+4)(3x-2) 10) (3r +4)(4r +3) 11) (x> +5)(x—1) 12) (2n? +1)(3n +5)
13) (3b% +4)(b +4) 14) (3v2 +1)(2v +5) 15) (k> +2)(k - 3) 16) (2x +5)(2x + 1)
17) (a2 +1)(3a-5) 18) (4x + 1)(2x— 5) 19) (3x +2)(2x+1) 20) (3n? +2)(2n-1)
21) (2m? +3)(4m + 5) 22) (5p>+1)(p+5) 23) (5r* +4)(r+3) 24) (x> + 3)(x +1)

> o ath-vcrshees.cry th-worksheet
matn-worksheet.org



Assignment
Factor each completely.

1) 8b® + 10b? + 12b + 15
3) 15V +6v? +25v + 10
5) 25a° + 10a + 20a + 8
7) 6x> +10x* +3x+5
9) 12x° —8x* +9x -6
11) 20p® —8p? + 15p—6
13) 12m’ —4m? +3m -1
15) 3m?® - 3m? +4m -4
17) 4n® —4n? +3n-3
19) 8b* — 10b* +4b -5
21) 2x° +5x% +4x+ 10

23) 15k + 12k* + 20k + 16

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 4

Date Period

2) 4n° +3n* +8n+6
4) 15n* +5n? +6n+2
6) 5x> — x> +20x — 4
8) 12k* +3k* +20k + 5
10) 3n* +2n? + 6n+ 4
12) 3> —=9x* +x -3
14) 2n* +n* +4n+2
16) 3x° + 6X* +2x + 4
18) 15r> =25r* +9r-15
20) V2 — 5v% +4v—20
22) 5% + x> +25x+5

24) 3a’ — 15a% + 5a— 25
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Answers to Assignment (ID: 4)

1) (2b%+3)(4b +5) 2) (n? +2)(4n +3) 3) (3v? +5)(5v+2) 4) (5n* +2)(3n +1)
5) (5a% + 4)(5a +2) 6) (x> +4)(5x-1) 7) (2x% +1)(3x +5) 8) (3k% +5)(4k + 1)
9) (4x%+3)(3x-2) 10) (n?+2)(3n+2) 11) (4p> +3)(5p-2) 12) (3x2 +1)(x - 3)
13) (4m?> +1)3m-1) 14) (n®+2)(2n+1) 15) (3m? +4)(m-1) 16) (3x* +2)(x +2)
17) (4n> +3)(n-1) 18) (5r2 +3)(3r - 5) 19) (2b2 +1)(4b - 5) 20) (v? +4)(v-5)

21) (x* +2)(2x +5) 22) (x*+5)(5x+1) 23) (3k> + 4)(5k + 4) 24) (3a%+5)(a->5)
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Assignment
Factor each completely.

1) 10p* —2p*+25p-5
3) 20x> + 15%° + 8x + 6
5) 5n° +4n* +5n+4

7) 5n* +2n? +5n+2

9) 9v* + 12v? + 6v + 8
11) 2k* — 5k + 4k — 10
13) 15a° - 10a* +9a -6
15) 2m* +5m? + 6m + 15
17) 25p® —20p* +20p - 16
19) 3x* + 12x* +2x + 8
21) 3n® —15n? + 5n - 25

23) 12n° + 16n% + 15n + 20

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 5

Date Period

2) 16m° +4m? +20m+5
4) 4r’ +6r’ +2r +3

6) 4x® —5x* +20x —25
8) 15b° +5b% +9b +3
10) 4x* —8x* + 5x— 10
12) 4n* —4n? +5n-5
14) 9% —6x* + 15x — 10
16) 3n° —9n® +4n—12
18) 2x* —6x* +3x—9
20) 2b® +6b% +b +3
22) 2r° —4r* +5r-10

24) 5x° —=3x% +5x -3
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Answers to Assignment (ID: 5)

1) 2p*+5)(5p-1) 2) (4m? +5)(4m+1) 3) (5x% +2)(4x +3) 4y (2r? +1)(2r +3)
5) (n?+1)(5n+4) 6) (x> +5)(4x—5) 7) (n?+1)(5n+2) 8) (5b% +3)(3b+1)
9) (3v? +2)(3v+4) 10) (4x2 +5)(x-2) 11) (k* +2)(2k - 5) 12) (4n> +5)(n-1)
13) (5a +3)(3a-2) 14) (3x* +5)(3x - 2) 15) (m?+3)(2m + 5) 16) (3n? +4)(n-3)
17) (5p> +4)(5p - 4) 18) (2x +3)(x-3) 19) (3x2 +2)(x +4) 20) (2b% +1)(b+3)
21) (3n%+5)(n-75) 22) (2r? +5)(r-2) 23) (4n%+5)(3n +4) 24) (x> +1)(5x-3)
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Assignment
Factor each completely.

1) 3x* = 5x% +6x — 10
3) 20b* +8b% +5b +2
5) 20a’ - 15a* + 8a—6
7) 4n° —n*+12n-3

9) 2x* — 10x* + 5x — 25
11) 9% +3x* + 12x + 4
13) 2b’ + 10b? + 5b + 25
15) 2x° —x* + 10x -5
17) 4n* —16n* +n—-4
19) x> —2x* +x-2

21) 3k +3k* + 2k +2

23) 15m°® —=3m? + 10m -2

b2 wsgsgs ath-vsorlsheel ory
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Date

Period

2) 3V —6vi+v-2
4) 15k + 5k*> + 12k + 4

6) 8x’ +6x* +4x+3

8) 12p* +20p* +9p+ 15

10) 9n® —6n* + 12n -8
12) 10r* + 15r* + 6r +9
14) 2m®> —m? + 8m—4

16) 2a’ + 6a* + 5a+ 15

18) 20v® — 15v* + 16v — 12

20) 25n° +15n* +5n+3
22) 5% +25%% +2x + 10

24) 10p> —8p* +5p—4
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Answers to Assignment (I1D: 6)

1) (x*+2)(3x-5) 2) Bv?+1)(v-2) 3) (4b%+1)(sb+2) 4y (5k* +4)(3k + 1)
5) (5a% +2)(4a - 3) 6) (2x* +1)(4x +3) 7) (n?+3)(4n—1) 8) (4p>+3)(3p+5)
9) (2x%+5)(x - 5) 10) (3n” +4)(3n-2) 11) (3x> +4)(3x +1) 12) (5r2 +3)(2r +3)
13) (2b%+5)(b +5) 14) (m +4)2m-1) 15) (x +5)(2x - 1) 16) (2a%+5)(a+3)
17) (4n> +1)(n-4) 18) (5v* +4)(4v - 3) 19) (x> +1)(x-2) 20) (5n? +1)(5n +3)
21) (3k* +2)(k+1) 22) (5x%+2)(x +5) 23) (3m?+2)(5m—1) 24) (2p*+1)(5p-4)
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Assignment
Factor each completely.

1) 20b* + 12b? + 15b + 9
3) 8x* —6x* +12x -9
5) 20x> +25%* +4x+5
7) vV +4vi+3v+12

9) 12x° —8x* + 15x— 10
11) 3a® - 3a’ +4a—4
13) p’ - p?+5p-5
15) 6n° +15n* +4n+ 10
17) 5x* —25%* +2x— 10
19) 2x° +5%* +4x+ 10
21) > +3n*+3n+9

23) 20a’ - 5a® + 12a—3

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date Period

2) 4n° +n? +8n+2

4) 10r® +25r* + 6r + 15
6) 3n° —n?+12n -4

8) 10b® +8b% + 15b+ 12
10) 6x° +3x* + 8x+ 4
12) 3k* —k?> + 15k -5
14) 8x* —12x* +2x -3
16) 15m° +3m? + 5m+ 1
18) r’ +4r* +r+4

20) 10v? —6v? + 15v -9
22) 20b* —25b* +4b -5

24) n* +2n* +3n+6
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Answers to Assignment (ID: 7)

1) (4b%+3)(sb+3) 2) (n?+2)(4n+1) 3) (2x% +3)(4x-3) 4y (5r2 +3)(2r +5)

5) (5x% + 1)(4x +5) 6) (n>+4)(3n—-1) 7) (V2 +3)(v+4) 8) (2b% +3)(5b +4)
9) (4x%+5)3x-2) 10) (3x> +4)(2x +1) 11) (3a® +4)(a-1) 12) (k* +5)(3k—1)
13) (p>+5)(p-1) 14) (4x> +1)(2x - 3) 15) (3n +2)(2n +5) 16) (3m?> +1)(5m+1)
17) (5x2 +2 (x 5) 18) (r*+1)(r +4) 19) (x*+2)(2x +5) 20) (2v? +3)(s5v—3)
21) (n*+3)(n+3) 22) (5b +1)(4b - 5) 23) (5a° +3)(4a—1) 24) (n*+3)(n+2)
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Assignment
Factor each completely.

1) 5%° +20x* + 2x + 8
3) 15x3 +9x% +25x+ 15
5) 12p* +8p* +3p+2
7) 4x3 —2x* +10x -5
9) 3b® +4b% + 15b +20
11) 4x* — x> +12x -3
13) 4v* +20v* +5v + 25
15) 2x* —3x* + 10x — 15
17) 4a* - 12a* +3a-9
19) 5n° —5n +4n—4
21) 10x> +4x* + 15X + 6

23) 16m* —4m? +4m -1

b2 wsgsgs ath-vsorlsheel ory

Name
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Date Period

2) 12k* — 15k? + 16k — 20
4) 15n* +6n* +10n + 4
6) 4m® +5m? + 16m + 20
8) 6n° —15n* +2n—35
10) 15r +5r* +3r+1
12) 6n° —15n* +4n—-10
14) 2a’ + 6a* +3a+9
16) x* —4x* +3x— 12
18) 6k* — 8k* + 3k — 4
20) 5p° — p?+20p -4
22) 4r° +20r* +r+5

24) 4% —2x* +2x -1
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Answers to Assignment (I1D: 8)

1) (5x%+2)(x + 4) 2) (3k* +4)(4k - 5) 3) (3x% +5)(5x+3)
5) (4p>+1)(3p+2) 6) (m? +4)(4m +5) 7) (2x* +5)(2x-1)
9) (b%+5)(3b+4) 10) (5r2 +1)(3r+1) 11) (x> +3)(4x—1)
13) (4v +5)(v+5) 14) (2a%+3)(a+3) 15) (x* +5)(2x—3)
17) (4a +3)(a-3) 18) (2k*+1)(3k - 4) 19) (5n* +4)(n-1)
21) (2x* +3)(5x +2) 22) (4r* +1)(r+5) 23) (4m? +1)(4m - 1)
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4) (3n%+2)
8) (3n? +1

5n +2)
2n—5)
(

2) 2n-5)

4)

Sp—l)

(
J2x-1)
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Assignment
Factor each completely.

1) 12x7 +15x* + 4x+5

3) 5n° —2n%*+25n-10

5) 3n° —3n*+n-1

7) 3%} —2x* +6x—4

9) 4n® —20n* +3n-15
11) 3p®> -2p*+9p-6
13) 15x® +20x* + 12x + 16
15) 2r* —10r* + 3r— 15
17) 10x® + 6x* +25x + 15
19) 20a’ — 16a* +25a —20
21) 6x° + 15%* + 10x + 25

23) 10a’® — 8a* + 5a—4

2 gegsus. path-worsheet.ory

Name

ID: 9

Date Period

2) 3b®> —5b*+3b-5

4) 15V +9v? + 5V +3
6) 15k> + 10k* + 3k +2
8) 3a’—a’+ 12a—4
10) 12x* —20x* +3x -5
12) 5n° +10n*+3n+6
14) 3b* —6b* +4b -8
16) 6m> —9m? + 8m — 12
18) 4v® —5v? +4v -5
20) 2x° +5x% +2X+5
22) 5n° —4n? +20n - 16

24) 25k* + 15k* + 10k + 6
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1) (3x%+1)(4x +5)
5) (3n*+1)(n—1)
9) (4n* +3)(n - 5)
13) (5x% +4)(3x + 4)
17) (2x2 +5)(5x +3)
21) (3x%+5)(2x +5)

Answers to Assignment (I1D: 9)

2) (b%+1)(3b—5)
6) (5k>+1)(3k+2)
10) (4x> +1)(3x - 5)
14) (3b%+4)(b-2)
18) (v2 +1)(4v-5)
22) (n? +4)(5n-4)
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3) (n?+5)(5n-2)
7) (x> +2)(3x-2)
1D (p* +3)(3p - 2)
15) (2r* +3)(r -

19) (4a> +5)(5a 4)
23) (2a%+1)(5a—4)

4y (3v* +1)(5v +3)
8) (a>+4)(3a—1)
12) (5n* +3)(n+2)
16) (3m? +4)(2m -3)
20) (x2+1)(2x+5)
24) (5k* +2)(5k +3)
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Assignment
Factor each completely.

1) 9p +15p* +3p+5
3) x° +5x* +3x+ 15
5) 5m® +3m? + 10m + 6
7) 15x° —20%* + 9x — 12
9) 10x> +25%* + 6x + 15
11) 5a° —a’ +20a — 4
13) x* +3x% +4x+ 12
15) 2x° + x* + 10X+ 5
17) 3p* +9p* +5p + 15
19) 5b° +4b? + 5b+ 4
21) 4n° —16n? + 5n - 20

23) 3% + 15%% + 5x + 25

b2 wsgsgs ath-vsorlsheel ory

Name
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Date Period

2) 8n° +10n* +4n+5

4) 3r3 —r’+6r-2

6) 15n° +3n? +10n+2
8) 2b* —6b*+b-3

10) 6V’ —4v? +9v -6
12) 16n° —20n% +20n - 25
14) 2k* — 8k?* + 5k — 20
16) 10n° — 15n* +8n— 12
18) 2x* —2x* + x -1

20) 20r° +4r? + 15r + 3
22) 3n° —12n? + 5n - 20

24) 4a’ +3a’ +8a+6
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Answers to Assignment (ID: 10)

1) 3p*+1)3p+53) 2) (2n% +1)(4n +5) 3) (x> +3)(x+5) 4 (r*+2)(3r-1)

5) (m?+2)(5m +3) 6) (3n> +2)(5n+1) 7) (5x% +3)(3x—4) 8) (2b2 +1)(b-3)
9) (5x%+3)(2x+5) 10) (2v? +3)(3v-2) 11) (a®+4)(sa—-1) 12) (4n? +5)(4n - 5)
13) (x* +4)(x +3) 14) (2k* +5)(k - 4) 15) (x> +5)(2x+1) 16) (5n* +4)(2n - 3)
17) (3p? +5)(p+3) 18) (2x2 +1)(x—1) 19) (b%+1)(sb +4) 20) (4r* +3)(5r+1)
21) (4n%+5)(n—4) 22) (3n%+5)(n—-4) 23) (3x%+5)(x+5) 24) (a® +2)(4a +3)
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